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sum E_ [GeV]

7000 GeV pp Underlylng Event
10 = [ | L L T 1T | L | E.;(Q
— o -
Sum ET (4.0 < p| < 4.8, p"™" > 0.5(0.2) GeV, I':“ > 20 GeV, W¥?| < 2%}
- 1E =3
— uwn
- — _n
a .| -
_ | )
8;0 1 E_ [ | u - —ES
z F . 1S
107 & =

= u =

-3 _ |
10 = =)
— 1™
= o
- o

-4 | O------__ - I
107 E g B . §§
— T el .=
- [t = R 1%
1075 &= ®m ATLAS ; SO &
= . B =
— --0-- Herwig++ 2.5.1 default -9 - g
[ --3-- Herwig 7.2.0 default - 1%
6 2 O
10 ° = =2
— 390
[ ] 8
_l | | | | | | | | | | ' | | | | I_ E

:l T T T | T T T T | T T T T | I:
2 & —2
1 11

05 —0.5
| - R N O O T T SR R
0 5 10 15



	Contents
	Page 1


